Write 6606060 ,

A, Sixty million six hundred and six
thousand and sixty.

B. Six million six hundred and sixty
thousand and sixty. ‘

C. Six million six hundred and six
thousand and sixty.

D. Six million $ix u{‘l}ﬂf‘?d and six

thousand and six.”

Round off 879.987 tcyl decimal place
A. 880" vt

B. 8800 .

C. 879.99
D. 879.0‘

What is the place valuc of dlglt 6inthe

square of4.4
AL oncs :
B. tens - 3
C. hundredths

D. tenths

Which of the following is the largest
number that can divide 72, 90 and 108
withouta rexllaindér. ‘

A. 18

B. 12

C. 24

D. 36

Simply 3(2x +2y) +2(3x -y)
A. 12x-4y

B. 12x + 12y

C. 12x-12y.

D. 12x +4y

9]

~Which of the following statements is true

about the diagram below

a /4
“b/c

A. Angleb=h~= éorréspondin y angles
B. Anglc ¢= ¢ = co-interior ang ks
C. Angle f=b=alternatc angles

D. Angleatb=1 8{)—.~ supplementary angles

A watch loSes 10 secondx in 2 hours.

How many,mmutes does it lose in 1 week?
A 14

B.28 i

C. 42

-

D. 56

* Find the length marked y in the diagram

below

y A=0.48ha

80m

- A 0.6m

B. 6m
C. 60m

_ D. 600m

Arrange the following fractions from the
smallest to the largest

. S ’) - ol
L7532 L3257
8 643 4 3 6 8
ﬂ- " o ’7"&4 7
C _5__’:_1 D. :lé_
6438 374768




TS

12.

13.-

_B. 36kmhr !

- D. -'7_2kin/h; |

Clan _3, !

A trader sold a Jacket for sh.540 naking

aloss 0 20%. How much was the loss?
A. sh.840

B. sh.800

C. sh.160

D. sh.240

Caleulate the perimeter of the figure below

48cm ‘

~1126cm
120cm
142cm
134cm

cnxE >

‘ 1 ' .
Convert '8 into a decimal correct to 2-

decimal places.
A. 1.25
B. 0.125
C. 0.12
D. 0.13

-A car travelled-a distance of 72km-in-

5 hour. -Calculate its speed in km/hr

A ladkmir

C. 90km/hr

.'"W'P_‘i:‘a_f:isi;_t’héﬁe;xthlhibcr-i,'n the s_équénce? "

Y [
: L . b

i

s

15.

16.

17.

In a test marked out 6f 60 Mukuha
scored 45 marks. What was his mark as
apercentage?
A. 90% ’
"B, 75% :
- C. 45% ST
D 2% . '
The distance from Onyango’s honic to’
the shop is 1%2km. One day Onyango
was sent 4 times to buy different goods.
What distance did he cover in km?
A. 3km B. 6km
C. 12km D. 18km
Muli ate  of aloaf of bread in the
morning, %— in the afternoon and the rest
in the evening,. What fraction did he cat
in the evening?
A L B
2 12
¢ i p2
12 3
Acube 2m long was full of water. How
many decilitres of water did the cube hold?
~A. 2000 '
B. 20000
- C. 8000
D 8000() _
Tht. table bcloWshows t, ramfeﬂfﬁf |
Konza in 2007. useit to ahswer question 19
_Momh - ‘ - Ja,ni Feb .M’a.‘r ' Apr. -May. hzm
e Ramfall(mm) zs;-‘*' 15 B ‘;—_‘, 0 80 e |

19.

What Wd» thc mcdn momhl) rdmldll in -;. -
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20.

21.

22.

23.

SOo® >

What is the value of angle P

800
100°

50¢ -
1300 PAYY

Ruth was sent to the shop to buy the
following items. '
2kg sugar @ sh.110

3 bars for sh.210

2 bottles of soda for sh.40 per bottle
How much did he pay for the items
A. sh.470

B. sh.510
C. sh.490
D. sh.610
Add:
: 2
41 + 5~1— +6=
6 3 9
A, 152 3\‘14-B
18 18
c 15t D, 1411
18 18

What is the value of min

Smod=11
4

15
16
20

24

oOow >

. 24.

25,

26.

- A shopkeeper packed 48 litres of milk -
into quarter litre packets. How many
packets did he obtain?

A 12
B. 192
.24

)

-—
o

\/O

What is the product of edges and
-faces in an open cuboid?

AL T2
"B. 60

C. 576

D. 96

A pathis 2.5m long. What would be its

- drawing lengih ona map where Icm

27.

28.

represent 50ecm?
2.5¢m

2cm

125¢cm

o 0w

5cm

A trader sold a meko for sh.1800 making
a profit of 20%. Calculate its buying
price.

A. sh.3000

B. sh.1200

C. sh.1500

D. sh.2160

Find the width of the block below it'its
volume is Sem’?

dem

A. 2cm
B. 3¢m

i3

P
i
o)
3




29,

31.

32.

£ 40% of a quantity is 240 whatis 60%

. of the same quantity?

A. 144
B. 360

C. 240 N
D. 96 - 3
Simplify 7 - 4x > X +2

A x<2

B. x>2

C. x<

B N

D. x>

Work out 324 +0.8=
A. 40.5
B. 4050

C. 405

D. 4.05

Joan started her journey at i0.45pm. It
took her 4 hours 30 minptes to reach her
destination. At what time did she

- complete her journey in 24 hour clock

system.

A. 0315hrs
B. 1515hrs
C. 3.15am
D. 3.15pm

Calculate the area in Ares

100m

| A. 120002\'res

B. 6000 Ares
C. 60 Ares
D. 6 Ares

- f 34 A square-has-an arca of 256cm?,

36.

37.

35.

Calculate its perimeter.
A. 16¢m
B. 64cm
C.-32cm
D. 96em

Work out

v0.0784

A. 0.0028
B. 0.028 -
C. 0.28
D. 2.8

Work out:

G | =

"Which of these statements is false

A. \/7@=2x2><7

D. 05>0.25




FYRES
G el 't =
¥

40. Find the missing digit to make 60 9
divisible by 3 ' '

2

SoE»
w

L W

41 ~ Work out 729 - 134 + 225
. 820 o o

bow?
~]
3]
<

~ 38. Construct triangle UVW where ] The éraph below shows the number of
) UV=6.2cm, VW=5.3cm and angle pupils absent in a class 0of 40 in-one
.. UVW=36°% Whatisthe measureofline | . - week. Useittoanswe question42
WV, ‘ - 2
A. 4.1cm SRR - - L
B 37em | f b e
39. Whichofthe followingis the correct g - :
: Q4
order of faces edges and vertices in a s E - b
closed cub01d‘? ) 5 bt b
£
a0 %cﬁ | Edges Vertices )
A 5 12 - 8 ‘ i .
B. 6 12 ' 8 :
C. 4 4  le. SuEn Amais A s
D. 5 9 6 Mon Tue Wed Thur Fri

Days of the week

42. How many pupils were present on
Monday and chncsday
A S
B. 35
C. 75
D. 80

43. Inacertain town the number of wom¢ s

and children is % of the population. '5'hc

re%t are men. Whatis thc populdtlon of _

merras a deuma]

CAr

44 qurest dcpanment plgmcd 4324 row;i N

PR

- 76

_, oftx:ees Each row had 379 trees. How
mdn’) trees Wetdpls

A 1638796

B. 1648786

C. 1637790

D. 1638786

e BB




“45. Thecostof4 pairs of shorts is sh.760 -
~ whatis the cost of 7 such pairs?
A, 8h.1330 E
B. Sh.190
C. Sh.870
- D. Sh.1230

46. The graph below shows how wanasuma
- spent her saturday.

Playing

Domestic chores

How many-:morehours did she gpend-
learning than doing domestic chores.
A2 ‘

o ow
O W -

47. Whatis the value of angle x

110°
120°
130°
140°

cow»

Ty

-~ 48. - A square plot of land has an aréa of

1
61 m¥. What is its perimeter.

A. Zzgm
B.5m
|

’D. 10m

49, Calculate the perimeter

28m

A. 44m
B. 2m
C. 54m

I eem -
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S0. The graph below shows a travellers journcy from town X to Y and back.

45 o

40

35 L

30

25 L

Dista nce (km)

20 =

10 £

Gam 7am 8am 9am 10am1iam12:00 4pm 2pm

Time (hours)

H(m many km did thetraveller coverto town ¥ aftertherest? .
A. 20 | ‘

B. 15

C. 25

D. 90




Read the passage below. It contains blank spaces numbered 1 t0 15. For each blank space, choose
the BEST alternative from the choices given.

There was 1

time when animals and people lived 2 the
earth harmoniously side by side 3 respected the other, and the-y. went out of their
4 to be friendly and useful to each other. The elephant___- 5 the King
of the animals 6 one day that there 7 be a King
8 the rivers 9 marshes. He thought it 10 be
useful to have 11 responsible for alerting people 12 the coming
of the first rains 13, so that they would 14 time to get ready and
start . 15 their tools and seeds. . |
I. A a B. the C. that D. this
2. A i B. on C.at D. into
3. A. one B. everyone C. each D. they
4. A self | B. own C:. mind D. way
S. A. being B. been C. was D. for
6. A. thought B. knew | C. decided D. saw
7. A. need B. should- C. must D. can
8. A of B. for C. at D. in
9. A. and B. also C. or D. by
10. A. could B. would C. should D. might
11. A. everybody B. nobody C. somebody D. anybody
12. A. for B. in- C. by D. 1o
13. A. , B. ! C. ; D. :
14. A, get B. need - C. have _D. find
15. A. repairing B. preparing C. making D. using

o




For questions 16 to 18, choose the BEST
alternative to complete the sentence given.

16.

17.

18.

Okoyo as well as Kipkosgei _ in
standard seven.

A, are

B. is

C. were

2. havebeen

The doctor asked the patient
feeling beticr. \
A. when

B. how
Y
C. Ik

she was

"D. where

A _of dancers entertained the guest
of honour.
A. troupe
B . troop
C. squad
D. choir

-~

For questions 19 10 21, choose the alternative
from the choices-given.

19.

20.

21.

Jebichii bought a

A. lovely, black, woollen coat.
B. woollen, black, lovely coat.
C. lovely, woolen, black coat.

D. black, lovely, woollen coat.

As if he was mad

A. weranaway from him.
B. he started eating grass.
C. Oncko removed his shirt.
D. Icalled an ambulance.

We had a good meal that night, - ?
A. did we '

B. had we-

C. hadn’t we

D. didn’t we

For questions 22 and 23, choose the
alternative that means the SAME as the
given sentence.

22.

23.

Children should respect the elders.
Children ought to respect the elders.
Children must respect the elders.
Children have to respect the elders.

. Children would respect the elders.

oowp

No sooner had Wakaba crossed the road

than the vehicle appeared.

A. Wakaba crossed the road when the
vehicle appeared.

B. Immediately Wakaba crossed the
road. the vehicle appeared.

C. Wakaba saw the vehicle when he
crossed the road. _

D. The vehicle appeared for Wakaba to
cross the road.

For questions 24 and 25, choose the
alternative that LEAST fits the group.

24.

25. A Football -

A. Hawk
B. Eagle
C. Vulture
D. Goose

B. Netball
C. Hockey
D. Draught
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Read the passage below. and then answer questions 26 fo-38.

“That’s it!” Black Rooster c‘royvede"t(;hirnself when he spottedRed Cock flirting with the hens again.
“P’ve had it with that impuderit Rooster. I am the Master of the Farm Yard, not him!” Black Rooster threw
back his head and crowed loudly: “Cock-a-doedle-doo! I will fight you.” Red Rooster turned around slowly,
fluffing out every feather on his body as he moved. “Oh yeah? Just try it,” he replied.

" The hens squawked and gabbled as the two Roosters flew toward each other. They huddled together as

the Roosters pecked and kicked and pounded one another with outstretched wings. Feathers flew
everywhere. Red Rooster aimed a mighty blow to Black Rooster’s head, but Black Rooster ducked and

‘bit Red Rooster’s leg. Red Rooster screamed in ragg.and pummcﬂed Black Rooster with his wings, but

Black Rooster was older and wilier than Red Rooster and hustled out of reach. Then Black Rooster bit
Red Rooster from behind, right in the shoulder. Red Rooster screamed in agony and flapped away to a

" private comer to ble%ﬁ@mery “I won!” Black Rooster crowed in delight. “I won!” He threw out his

chest and flapped mightily. Then he flew up to the top of a high wall and stretched his wmcs to their full
length, calling exultantly at the top of his voice. “l am the WINNER!” High above the tarm yard, Eagle .
floated lazily on an updraft. His keen eye was searching for his next meal, when he spotted Black Rooster
dancing atop the high wall. His keen ear heard Black Rooster crowmg in triumph. “Ah ha! Dinner at last,”
said Eagle, folding his wings and diving toward the ground o

“I won! [ won! I, the mighty Black Rooster, have won'” Black Rooster strutted and danced on the
high wall above the farm yard. Beneath him, the hens cackled wildly and flattened themselves on the
ground as ashadow blotted out the sky. “Iwo....” Black Rooster’s triumphant crow was cut off as Eagle
snatched him off the wall and carried him away in his mighty talons. Red Rooster peered anxiously fromhis
corner and saw Black Rooster floating away in the Eagle’s grasp. A few black feathers cascaded down
onto the head of a broody hen sitting on a nest in'the shade of the wall. Red Rooster shook his f(;aihcrs into
place, gave his wounded shoulder a quick preen, and strutted out into.the farmyard. “You may. hav,,é*‘won,
but [ am Master of the Farm Yard,” he called after the retreating black speck floating skyward in Eagle’s
talons. And all the hens, strutting back into the yard to feed, happily agreed: ' ’




26.

27.

28.

29.

TOow

Why did the Black Rooster say, “That is

it?

A. He disliked the hens.’

B. He saw the Red Rooster.

C. He was ready to fight. .

D. He had been waiting for the Red
Rooster.

Which of the following statements shows
that the Black Rooster was not seeing the

Red Rooster for the first time?
Black Rooster crowned to himself.
He spotted Red Cock flirting.
Red Cock flirting with the hens again.
I’ve had Hwith that impudent

) Rooste}*

Sows

L4

Why did the Black Rooster crow at first? -

A. To get attention from the Red
Rooster.

To scare the Red Rooster

To show that he was the master. -
To start a fight.

What was the state of the hens Just

- before the fight began?

30.

31.

A. Sad
B. Frightened
C. Excited =

.D.-Shocked

Which of the following words can BEST
replace the word huddled as used if the
passage?

A. Settled

B.  Moved

C. Came

D. Gathered

From the passage it is TRUE to .'say that |

the battle was brutal because
A. feathers flew.everywhere.’
B. hens huddled.

C. the cocks pecked.

D. the cocks fought with wings.

32.

33.

34.

3s.

What made the Black Rooster win the

battle according to the passage?

A. It was stronger.

B. The Red Rooster was less
experienced.

C. The Black Rooster knéw how to
duck.

~D. It was old and was respected.

The Black Rooster called ‘exultantly’, this
shows that it was
-A. abusive B. ' .arrogant

C. stressful D. brave

It is TRUE to say that the Eagle saw the
Cock

A. coincidentally

B. consciously

C. accidentally

D. intentionally

'The eagle swiftly moved towards the cock

because

A itknew that the black cock was very

“strong.
. it had seen'the two roosters fight.

B
C. thehens had seen it.
D

- 36.

37.

. it didn’t want the Black Rooster to
‘realise its move.

‘Which ofthe following BEST descnbes the
Eagle?

A. swift, accurate and keen.

B. swift, accurate but keen.

C. swift, accurate or keen.

D. swiftaccurately keen.

Were it not for the Eagle’s action
A. Red Roaster would have died.
B. Black Roester would have killed red
rooster.
C. Black Rooster would have dommated ‘
- the farm yard.
D. thehens would have died.

‘The BEST title for this passage would be

A. Pride comes before a fall.
B. Once bitten twice shy.-
C. All that glitters is not gold.
D. Every dog has its day.

- STD'7.002 ENG 2016




Read the passage below and then answer questions 39 1o 50.

There are many games played in schools. These include; football, hutball hockey, badminton, handball
to mention but a fow. Every student should participate in at least one of the games. Some schools also oifcx
advanced services to the disabled to allow them to participate in the games. Talented students are sponsorud
tod’ ‘splay the best of their ability thus exposing them to several life changing opportunities. A good example
i« Wanyama. He got his talent tapped and refined. It is rumoured that he currently earns over twenty five
nilion shillingsa week. _

These games are equally important. The ability of a pupil to achieve gnﬂciass donotreflect the

pupil’s ability to perform in the field. It is the burning passion for a type game that determines the success’*’
Hthe pupil. Tre 3cmber with nostalgia a dream came true for a hi gh school friend. He lived saying that he

was acitizen #Cifiada. This he would later achicve by getting a scholarship to study at a University in

‘anada. His wish was granted when he pia) ¢d inthe school’s Iootbdll team for the national bdll games. An
=GO approached the principal and were granted a chance to talk to hxm They instantly sponsorcd his
cducation. Thus he landed in the Canadian Uniy ersity. -
Ifyou have a talent and you are sure you are passionate, you therctore have to'e get out of your
Piding and realise your potential. Play as hard as you can and don’t stop evenifthe world thinks

otherwise. Always remember the end j J ustifies the means,

39. From the first sentence, itis TRUE to 42 Why do some schools offer spc01al services
say that games played in school arc to the disabled? B
A. couniable : A. To enable them fit in the game of their
B. different : choice.
C. known B. To show how special they are.
D. pumerous : C. To bring happiness to them.
D

‘To make them different from others.
40. Netball, hockey, badminton and footbali '

A. are the only games played in SC_hOOlS- 43. Talented students arc sponsored to
B. are examples of games played in A. expose them to life changing
SChO‘fls' _ ‘ opportunies.
C. are played in schools by all pupils. B. be given scholarship.
D. should be games in schools. C. exploit them.
D. display the best of their ability.

41. ItisTRUE to say that every pupil
A, must play a game in the school.
B. hasto playa game in the school. .
C. isplaying a game in the school.
D. needs to play a game in the school.




44,

45.

46.

47.

48.

- 49,

50,

The writer has used Wanyama as
an extraordinary example.
areal time example.

a known example.

a football player.

SOowe

How much does Wanyama earn per a
fortnight according to the passage?

A. Fifty million shillings.

B. Twenty million shillings.

C. Above twenty five million shillings.

D. Above fifty million shillings.

The class ability and field ability can BEST
be described as

A. invariant : .
B. likely hood J*@

C. connected
D. dependant

According to the writer, what determines
success of a pupil is

A. passion

B. hard work

C. practice

D. support

How did the student named in the passage
become a Canadian?

A. Through hard work.

B . By playing football.

C. He was called by a school principal.
D. By getting an education scholarship.

The word potential as used in the passage
can BEST be replaced with

A. passion

B. goal

D. ambition

D. ability

The BEST title for this passage would be
A. What goes around comes around.

B. Better late than never.

C. Where there’s a will there’s a way.

D. Astitchintime saves nine.
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Soma vifungu vifuatavyo. Vina nafasi 1 mpaka 15.  Kwa kila nafasi umepewa majibu manne
hapo. Chagua jibu lifaalo zaidi kati ya yale uliyopewa. ) ’

1 utotoni, ndoto yangu 2 niwe bingwa wa kila jambo.
3 wahenga hawakukosea waiiposema penye nia ___ 4 ‘njia. Ki.la
wakati nilijipata nikiwaza na kuwazua kuhlisu maisha yangu ya 5 | . Wazaz1waﬂgu nao
walichangia 6 kuona kuwa ndoto yangu imetimia =~ 7 vikwazo.. Nami
nikafanya bidii. Sikutaka kuwa mtegemea cha nduguye ambaye hufa ) 8
1. A. Kwanza B. Kuanzia D.Tangu
2. A ilikua g}g 'B. yalikuwa D. ulikua
3. A. Nawo 1 - B.Nao ) ”!f"D.Naye
4. A. pana 5 :H E
5. A. sasa fi |
6. A. kubwa F E;D.Amkubwa
7. A. mingjili a .B.—kabl%z% fiD.minghairi ya’
8. A maskini i B. mw ijmga
Serikali 9 ikiandaa warsha mbali mbali za 10 -wanawake
juu ya haki zao. Kwa mfano kuna shirika 11 kiserikali lililoanzishwa na mawakili
| 12 kushughulikia 13 ya wanawake 14 kutambua
kuwa utamaduni wa 15 ‘nyingi nchini unadhalilisha wanawake.
9. A. ilipokuwa B. ilikuwa C. yalikuwa - D.walikuwa
1_0. A. kuwakejeli B. kuwadunisha C. kuwahadaa D. kuwahamazisha
11. A. isiyo ya B. lisiola - C. lisilola D. yasiyoya
12. A. il B. bali C. i D. hili
13. A. masuala B. maswali C. jukumu D. kilio
14. A. lichaya ' -B. baadaya C. badalaya D. kwa niaba ya
15. A. mii B. ukoo | C. jamaa ' D. jamii



Kutoka nambari 16 - 30, jibu swali kulingana
na maagizo -

~16.

17.

18.

19.

20.

21.

22,

23.

~PiNyerere

“Chagua pambo lisilolingana na mengine:
A. Udodi
B. Kigesi
C. Kipini

Kanusha: Mtu akinunua shamba hulima
A. Mtu akitonunua shamba halim:
B. Mtu asiponunua shamba halimi
C. Mtu akinunua shamba hatalima
D. Mt anwnuapo shamba halimt
W

A. Waraka huu huu! ndlo ‘uliosomwa

B. Maziwahaya haya ndiyo yaliyonyw ewa &
-C. Dukahilihilindilotulilouziwa kalamus

D. Kengele n hii ndiyo iliyonunuliwas <=

Mwakilishi x{va nchi Katika nchinyingineni “|"

| 27.

A. wakili |
B. balozi |
C. mtalii 1 R

D. klbdraxa bk ’

Kikoa cha walmbajl kama vilej jdmll ya &
A. v1f::11<1r1g,q RSy
B. wachawi

C. wagomaji

D. wahuni

Wavu, waraka na wimbo ni mancno
yanayopatikana katika ngeli ya

A. U-Z1

B. I-Z1

C. U-u

D. U-YA

Chagua kiunganishi sahihi:

Mechi za tainali huanza kwa vishindo.
A il —_ v

B. angalau

C. aghalabu

D. maadamu

Kamilisha methali: Makofi hayalii ila kwa
satiti kubwa

faida yako

vidole vyote

. viganja viwili

cow»

24.

25.

1.26.

Ni sentensi ipi iliyotumia kivumishi k kisisitizi: 1

29.

30.

~D. msumeno " ;

28 Wi

Chumba hiki kina vitanda viwili. Maneno
yaliyopigiwa mstari ni

A. kivumishi, kivumishi

B. kivumishi, kielezi

C. kivumishi, kiwakilishi

D. kiashiria, kimilikishi

‘Tumia kiambishi sahihi:

Mizigo
A. 7z
B.1
C.ya
D.u -

__liachwanje jana.

Chagua wingi wa sentensi hii:

--Nguo yake imewekwa katika kabati.

. Nguo zake zimewekwa katika kabati

. Nguo zao ZlIIICVY@de katika kabati

. Nguo zao zimewekwa katika makabati

. Manguo yao Szamewekwa katika
fmakabatl ;

‘U SN ‘D>

|
!

K;faa cha kukatia mbdo kwa kukereza ni
A. kisu b
B. nyundo = i
C bisibisi

&
[
Minyoo .
tumbo.

A. hizindizo
B. hiindiyo
C. hawandio
D. hayandiyo

huletd maradhi ya

Chagua sentensi isiyo katika kauli ya

- kutendwa:

A. Ng’ombe waliyanywa maji

B. Mgeni aliachwa na gari

C. Maneno yaliandikwa na mwanafunzi
D. Chakula chote kililiwa na mtoto

Kimelea kinachopatikana kitandani ni

- A. kunguni

B. kiroboto
C. chawa
D. funza
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Soma szungu kifuatacho kzsha .ylbu maswali 31— 40

Visa vya udanganyifu vimekuwa Jambala kukﬁra katika taifa hili lctu kwa miaka na dahari. Je, -
ughilibu huu umepata nafasi ya kutawala miaka hiyo yote kwa sababu gdm‘? Ni hatua apl zinazoweza
kuchukuliwa ili kukomesha hali hii?

Kabla ya kulijibu swali hili sugu ebu tuangame namna hali hii ya udanganyifu'ii majxpenyua hadi
kuwa dondandugu. B i :

Kwanza kabisa, kuna wanafunzi ambao huingia katika chumba cha mtihani wakiwa na vifaa
vilivyopigwa marufuku katika chumba cha mtihani. Vifaa hivi ni kama rununu, karatasi zilizoandikwa na
kadhalika. Hlvyo basi, wa kulaumiwa hapa ni nani? Ni mzazi, mwalimu au mwanafunzi? Yafaa ifahamike
Kkuwa wote wana majukumu wanaopaswa kutekeleza. Mwanafunzi hawezi kupatd hela za kununua simu
ya bei ghali sampuli hiyo. Mwahmu aliyepewa jukuriu fa kusimamia mtihani huo aliruhusu vipi mwanafunzi
kuingia katika chumjpe mtihanibila idhini? Naye mwanafunzi anakubali kuvunja ja sheria zilizowekwa
kuhusu mtihani kwanuu? Kwa maoni yako tumlaumu nani? ‘

‘ [31toshe wanatun?l wengme hutumia mbint mbalimbali za ku1fanya mztmam Kwa mfano, kuna
wale hapo awali mmchla wahkuwa waki saldlwa kaufaﬂya mti han, ikwa kuandﬂeuwa majlbu kutokd nje.

Hili ni kosa kubwa Nx waﬁbu wa mwanafunzl klg; fan} s,

LY , ifunz A tangu wamgle eni waia si kawaadhxbu
IS¢ v1§z ori t'wa kwambabaadm ya wanafunzi hubadlhsha na karatasi za mtihani

katika chumba cha kuf yia mti ani. Ni sham ‘wasimamizi wa mtihani kauka kz la kituo wakae an%e ‘

kuzuia visa kama v1 R B s s
Mbali na hayosbaadhivawasima ‘klaﬁz ‘cha: kwam&a hufungua karatasn za
maswali kabla ya wakati wa kufanywa ili wapewe hongo na mwalimu mkuu au wakuu wa shule.

izl wa mtxham

Inasemekana kuwa kuna wazazi ambao hununua karatasi za mtihani na kuwauzia watu au kuwapelekea

jamaa zao. Huu ni ukosefu wa maadili. .




31.

32.

33.

3s.

36.

37.

~ kulaumiwani___

. B. mzaz

Udanganyifu unaozungumziwa katikaayaya

kwanza unalenga
mtihani wa kaunti
sekta ya biashara
mitihani ya kitaifa
mitihani ya kimataifa

S o>

Suala la ughilibu limekuwa dondandugu. Hii
inamaanisha

A. limckuwa kidonda kwa ndugu wengi -
B. limezungumziwa miaka mingi

C. limepepdeza kwa miaka mingi
D. limegah watoto kupita vizuri

Katika aya ya pili.ni-kweli kuscma wa_

kY

A. mwanatunzi ff

C. mwahmu‘z‘ OB
D. yeyote anaychusik

Mwandishi ametajanjiangapi zinazotumiwa
katika udanganyifu?

A. Nne '

B. Mbili

C. Tano

D. Tatu

Nia na madhumuni ya kutahini wanafunzini -

A. kuwawezesha kuajiriwa kazi

B. kuwafurahisha wazazi wao

C. kupima uwezo wa waliofunzwa

D. kubadilishana mawazo wanapofanya
mtihani

‘Kukaa ange’ -ni msemo uliotumiwa kuwa

na maana ya
A. kuwa mwoga
B. kuwa tayari

C. kuwa mwerevu
D. kupewa hongo

38.

39,

Jina lingine lenye maana sawa na rununu ni
rukono

- kikokotoo
monita

tarakilishi

Cew>

Kulingana na taarifa hii, - wanaopekea
rushwani

A. walimu

B. wazazi

C. wanatunzi

D. walimu wakuu

Kichwa kinachofaa katika taarifa hii ni:

A, Witihani wa kitaifa

B. Ughilibuwamitibani
C. Wazazi wenye maadili
D. Karatasi’za mtihani -
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Soma kifungu kifuatacho kisha ujibu maswali 41 — 50

.

Walioamba jungu kuu halikosi ukoko, kweli hawakukosea Hapo zamani enzi za mababu zetu,
aliish1 mzee mmoja ahybjullkana kama Bw. Maj aallwa Mzee huy u aliyebugia chumvi kweli alikuwa na
alivyoishi na aila yake kwa amani, upendo na utulivu wa kupwma mfano. Alikuwa mﬁlgajl wang ombe.
Kilichofanya aheshimike zaidi ni kutokuwa na tamaa ya kL 1wa mkwasi. Unyenyekev,_u na ukarimu wake
ulizidisha mapenzi ya dhati ndani na nje yakitongoji kile. o

Kwa bahati mbaya, mkewe akaaga dunia. Akamwacha shaibu huyu na kibarua kigumu cha kuwalea.
watoto wake. Alijikaza kisabuni kuikimu nasaba yake. Kulikuwa na shinikizo kutoka kwa majirani
waliomshauri apate jiko, lakini aliyatema mashauri hayo kama masuo. Hakutaka kwa vyovyote vile
waiiawe kuumizwa ama kudhulumiwa na mama wa kambo. Kutokana na visa kama hivyo,
alivyovishuhudia pale kiamboni.

Kweli ujanapi mosh1 ukienda haurudi. Kwa upande wake naye umri ukazidi kumlemaza. Akafikia
kiw angb cha kuskhf vyo basi lisilo budl likabidi na kuamua kuwaxta wanawe watatu kwenye

kikao cha faragha }h kuwaPa wosia. ' :
~ “Wanangu, maxsha yangu yaelekea ukmgom Wakati wowote natarajia kﬁtembelea mababu zetu

L

na huwa v1gumu kurudl kankd sayarihii ya madhlla Mkzangaha 2121 hie kuna pg ombe kum1 na saba

. na matcmgja vakdfqata na hatlmaye rhaA shi yakafanywa kwa njia’ya ‘taadhima kuu
Lililobaki ﬁ}dwa y:L.gawa wale ng ombe kuhngdrza na maagxzo ya babd yao Kwa siku 1kawa vuta.

Siku moja Bikizee mmoja ahyejuhkand kama Komboa, akataka kuj ua ni nini klhkuwa Chd mno.
Bila kuficha chochote, wakampasulia mbarika na kuweka mambo wazi. Bi Kizee yulc alielewa shida
yao na kuwaahidi angelitatua tatizo hilo siku iliyofuata. ,

Keshoye, yule ajuza alifika pale na ng’ombe mmoja. Akawaita wale ndugu watatu. Kisha
akamwuliza kifungua mimba nusu wa ngombe hao ni ngapi? Akajibu ni tisa. Akamwambia achukue
ng’ombe wake tisa kijana wa pili akaulizwa, “thuluthi ya ng’ombe kumi na wanane ni ngapi?”- Akajibu
ni sita. _ ' _

“Haya chukua ng’ombe wako sita.” Bi Kizee aliagiza. “Nawe Mutwiri, tusui ya kumi'na nane ni
ngapi?” Mama akauliza. “Tusui ya kumi na nane ni mbili Mutwiri akajibu. Akamwaglza achukue

ng ombe wake ' :



41. Mzee Majaaliwa anasemekana alibugia 47. Aliyemstua mgogoro dhidi yandugu hawa

chumvi nyingi. Hii ni sawa na kusema watatuni
A. alikula chumvi sana A. wazeewakijiji
‘B. alikataa chumvi nyingi ' B. kimamama wa mtaa
C. aliishi miaka mingi , : C. Bi. Kizee kwa kutumia hekima
D. alipenda chumvi sana D. vijana wenyewe kwa wenyewe

42. Ni ipi si sifa ya mzee Majaaliwa kama *| 48. Mioto wa mwisho huitwa

inavyoelezwa katika aya ya pili? A. binamu
A. Kupewa heshima na wanakijiji B. mziwanda
B. Alikuwa mfugaji wang’ombe - C. Mutwiri

C. Alikuwa mnyenyekevu na karimu D. Kimathi
D. Alikuwa mtulivu na mkorofi :

, Jungu kuu halikosi ukoko ni methali
mayo’tenga

......

43. Baadaya kxf&i@ubwe HZEE I\/Feuaahwa
alikumbwa na chaﬁg?moto teleila
A. ahwakxmu wat to wake vizuri B. vijana wote watétu

' ; C. ;Bw\ Majaah‘wa E?f‘,

D. S 1rzeef*f . B

alishikwa na butwaa?
’ A Kuchochea naan no
44, Wosiakwa Bw Majaalmdk a vij B Kupeanahongo
uikowa | R g 9 #C. Uamuzibora - -
A. namna watakavyonthl mah yake ok 5‘ _D Wana wa mYe:e Majaahwa
B. wasilie akiagadunia T o o |
C. namna yakawaajiri™" "
D. kuwaandaa kuwa matanga

45. Zogo lilitokea pale nyumbani baada ya
mazishi ya mzee Majaaliwa

walipoimba nyimbo

walipenda kupigana

walipokosa kuelewana

walikuwa walachake

oowp

46. Kilichosababisha zogo pale nyumbani ni
' . vifo vya wazazi wake

kutia sahihi daftari la wosia

namna ya kuendelea na masomo
namna ya kugawa urithi

COowR
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Which one of the following is NOT
transported by blood plasma?

A. Digested food

B. Heat

C. Carbon dioxide

D. Oxygen

Which one of the following is NOT a useful
animal?

A. Cat

B. Fish

C. Dog

D. Termite

Which one of th followmg objects will 1

NOT make a shid
A. Mirror.

B. Black polythene
C. Spoon.

D. Stone wall

Standard -3 puplls were asked by thelr

- science teacher to Dpanie the best shape for.

making a wheel
follows.
Ariro - rounded

Four of them sald as"

Simotwo - circular.

Alex - triangular

Kimtai - oval

Who among them gave the CORRECT
answer?

A. Simotwo

B. Alex

C. Ariro

D. Kimtai

5.

Study the diagram and answer the question
that follows

Which of the above blood vessels Q, R,S,
Tare pulmonary vein and aorta respectively

A. Qand S

B. Sand Q —
«&«Rand S

D.SandR *

The following are uses ot plants

- EXCEPT

makmg paper..

. 'B: source of food.
C. ‘makmg places. beautiful.
D

. source of ight,

~-Std four did an experiment as shown below.

+————Source of heat

D

The learners were LIKELY to investigate
presence of

airinsoil.

water in soil

humus in soil.

minerals in soil.

TSOo® >

e




8.

9.

In AIDS letter “I” stands for
protected from. '
immunity.

signs and symptoms.
Lack of. '

Co= >

‘\‘g
J —

Study thc dmgram"helow and answer the
question that follow.

Wh}licﬁ%\c of the crops below has the type
ol roet shown below?

- A. Maize

B. Grass
C. Mango
D. Sugarcane

10. Kiprop was goi‘ng"to school one}m‘or@ning

Il“‘ Whrch mwfﬁ&foﬁowmgrsﬂ%farm :

through an open ﬁcld with grass when it had
not rained. He saw grass having water
droplets. The droplcts would have formed
due to

A. cvaporation

B. condensation

C. vapourisation

D. freezing

use of water?
A. Watering animals.
B. Mixing chemicals
C. Drrigation -
D. Making fouﬁiains.

12. Which one of the following pau' of animals

belong to the same group‘7
A. Duck and fish.

B. Lizard and frog

C. Bee and wasp.

D. Bat and eagle

13..

Which one of the following is TRUE about ‘
watcr and sawdust. They =
A. have definite shape.

B. have definite mass.

C. have indefinite volume.

D. change state when heated.

, The followi ng arc minerals required by thé

body EXCEPT
A. calcium

B. phosphorus
C. potassium
D. iron

The diagram below represent the
reproductive parts of a plant,

‘Which part named above represent male

and female parts respectively?

A. Jand LL

B. Mand K

C. Land M

D.Kand.d e

16.

'

Medicines are used in all of the following
ways EXCEPT

A. preventing diseases.

B. relieving pain. ..

tC helping to sleepwell
/2. D. curing discases. .
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17.

18.

Force can bedefined in all of the
following ways EXCEPF

Al apull
B, alift.
C. amove.
D. apush.
Std six pupils went to the field which'had

19.

20.

21.

bare soil and noticed some small holes after
it had rained some showers. Their teacher
asked them which would be the best way
to prevent this. The CORRECT answer
would have been
A. use of'g,abion. »
B.. planting I €Erops.
C. useof t?rraces ‘
D. making contours.

IFood mixes with bile juice in the

A. large intenstine:

B. small intestine.

C. stomach.

D. duodenum.

A periscope is an instrument used to observe
A. the sky and the stars.

B. very tiny objects.

C. objects around corners.

D. very far away objects.

When doing an experiment to determine the
rate at which water rises in soil we require
all the following EXCEPT

A. biro pen casing,.

B. same type of soil samples.

C. cotton wool.

D. water in a basin.

22,

- 23.

24.

25.

26.

Study the diagram below and answer the
question that follow.

‘The gas marked W is used in .
- A. making of electric bulbs. -

B. making plant protcins’
C. breathing,
D. putting out fire.

Which of the group dxsmses below are
waterborn?

A. Malaria and measles.

B. Malaria and typhoid.

C. Cholera and bilharzia.

D. Typhoid and Rickets.

Which one of the following colour appears
in the middle of the rainbow?

A. Yellow )

Green.

C. Violet

D. Blue

=

Whih one of the grouﬁs of drugs below
consist of narcotics?

A. Tobacco and alcohol. ~
B. Miraaand bhang.

C. Mandrax and cocaine.
D. Bhang and alcohol.

Whlch onc of the following is V() I' among
the blood vessels?

A. Venacava.

B. Aorta

C. Auricles.

D. Pulmonary vein.




27.

28.

29.

30.

31

and tried to observe it fronrall corners of
“the room. Whichone of'the following would

have been his conclusion?

A. Light travels in all directions.

B. Lfighttravelsina straight line.

C. Liight can be reflected.

D. Light can travel by radiation.

The method of grazing shown below is
knownas .

A

Gate

[P —

Permanent
fence

- — - - ]

ﬁﬂ

Temporary
fence -

strip grazing.
paddocking.
stall feeding.
herding.

coxE >

Which of the products named below can
be obtained from a goat?

A. Milk only. f

B. Mutton only.

C.-Hide. "

D. Milk and Mutton.

The process by which the ovary releases an
ovais known as

. menstruation.

reproduction.

ovulation.

fertilisation.

oW

Which one of the following methods of food
preservation uses carbon dioxide gas?
A. Refrigeration.

~ B. Salting.
C. Canning -
D. Smoking

‘One evening Kiptoo litacandle in theroom -

sl

'32.. Whichofthe followi‘ng pairsrepresent the

Sthand the 8thi planets respectively?

"~ A. Mars and uranus.

33.

34.

35.

B. Mars and mercury.
C. Neptune and jupiter. -

- D. Jupiter and neptune.

Fertilisation in the flower takes place in the
oviduct. '

ovary.

. stigma.

. pollen:tube.

o 0w

Munyoki wrote the word DAD on a piece -
of paper as show below.

DAD

Which of the following shows the

‘observation he made after placing the mirror

infront of the paper?

|DvD
B.

adAd

A

DAD|

C.

d<D

D.

Which one of the following is TRUE about
digestion of food?

A. It starts in the stomach.

B. Digested food is absorbed in the
stomach. ’ -

Water and minerals are absorbed in the
small intestine. '

The rectum stores undigested food
material. '

C.
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36. Which one of the followingis important in
the body to prevent constipation?
A. Water.
- B. Fibres.
C. Minerals.
D. Nutrients

We can light our houses artificially by usc
of the following EXCEPT the usc of

A. lamps.

B. “electricity.

C. translucent roofs.

D. torches.

38. Which onc ofthe following is NOT a source
of water? ¥ =

A. Dam.

B. Rain.
C. Tap.
D. Ocean

39.

millilitres.
millimetres.
centlmetres .

CC‘W?&

40.

question below:

A raingauge measuires rainfall in umts known 1

Study the dlagram below and answer the |

Which one of the folloWing is TRUE about
the instrument above. It
A. isasimple air thermometer.

- B. should be placed outside in an 1 open

41.

%42

-1 43

ground.
C. isa 31mple liquid thcrmometer

C oDk Because! d‘f-’»’é%«fpﬂnswn and
contraction of air.

Small animals move in all of the following
ways EXCEPT ‘

A, walking,

B. crawling.
C. running off.
. flying. -

Which one ;)f the following shows the
number of sets of tecth in a human being?
A 8

i B2y
- D.20

The followmg, are stages of HIV.
i) “Window.

i) Symptomal‘ic. :

iii) Asymptomatic.

o iv) Full blown.

Which of the following shows the
CORRECT stages from last to first.

A (iv), (i), (iii), ()

— - —— —

—— Coloured water

— o —

—— o —

44.

C. (ii; (iv)’ '(iii,) (i).
D. (lu) (IV) (), (ii)

Amma} feeds arc grouped into the followmg
types EXCEPT

A pastures

B. fatsand oils.

C. fodder.

D. commermal feeds




45 Which of the following is NOT required by
~ aseed to germinate?
A Moisture.
B. Air.
C. Warmth.
D. Soily

46. The blopd, cqmponent whuch helps to stop |

bleeding is the
red blood cells.
white blood cells.
plasma.

‘ platelets:

TOow >

47. Which of the following immunizable

diseases is d%d immunized at the age :

of 6 weekshif weeks?
A Tuberculosis.
- B. Tetanus.
C. Measles.
D Malaria.

48. Which of the follewlng isa soctal eﬁ“ect of
drugs? . = . = 5t
'A. Poor health.
B. Marital conﬂlct
 C. Lack of concentrdﬁon
D. Liver erh051 7;:"»

49. The date after which medlcme should NOT L i

be used is known as
A. dosage.

B. manufacture date.
C. expiry date.

D. prescription.

50. Which one of the following is the most
common abused drug in Kenya?
A Mandrax. "
B. Cobbler’s glue.
C. Tobacco.
‘D. Alcohol.
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PARTL:SOCIALSTUDIES -~
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%ﬁ %ﬁ Forest e Huts

N " County Director
: ~ _ Tarmac.r.o_ac-_l CDE of Education’
c————— Murram road cC Chief's camp
N - Railway line l%] ~ Hospital

—A‘C/ ~ River and bridge SCH |  School

| Scrubs % %’- Maize
Quarry . | PP Police post

s | buildings




e

in Pendo are 15 b

_Qﬁ@?a

Study the map of Pendo area ‘md use it to 7 Which one of the following is the staple food
answer questions 1 -7 : - ] of the people of Pendo area‘?
1.  The general flow of river Pendo is from ; A. Cofiee
A. North to south East. : ](3: gilzleze :
B. South to Nerth East. D' Meat -
C. Northto South.. - v ‘ ) R
D. South East to North : ’ : .
; LR ‘8. Which one of the following statements
2. Whatis the approxnfm&tengthm kilometres BEST explains the main reason for the
of the railway line shown on the map‘) |~ migrationofthe Plain Nilotes?
A. 8km o - A. Search for greener pastures and water.
B. 5.5km B. Spirit of adventure. )
C. 4km C. Search for fertile farming land.
- D.7km D. Attacks by hostile neighbours,
3. The ich one of the: feliamng rivers drains

A. tradmg
B.mmmg

one1s NOT"
A. Securlt},

D. volcanic mountains.

'TheclﬁmtezxpeneneedmtheSeuthEastem : R aE . T :
side of Pendo area can BEST bedescnbed 'R 11 Which one of the following weather.
. instruments is used to measure the speed of
cool_and wet _ _ . wind? )
hbtanddry o N S '_AhBarometer
coolanddry . | BAuemometer =
hotandwet””‘" f." -} cC Thennometer L S
S D Wmdsock
E Thednstnbutwn ofsen‘lement mPendomea o “ e
. can MAINLYbedescnbed as ,11_2; Which one of the foilowmg specxesoftrees- .
- A. scattered S N '.-'MAINLY gmwsmthe Savannahwoodland .
B. linear . .f - b zone? |
CCodemse “A&mmmw
S ' C. Acacia
; - 1 D.Ebony

a2
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l 3. .Wh:chene of; ﬁh&fﬁl}ewmg iakeswas

‘formed as a result of down warpmg’
“A. Victoria." '
B. Tanganylka

C. Tana

D. Paradise

14, ,The MAlN source o€ in

' NOTamemtaerﬁf EastAfncaﬂ
(EACY?
A. Kenya _
B. Tanzama :
C. Uganda
D. Ethiopia

Use the dmgram belaw toa
18 19 '

[adxan()cean? :

. C ‘warm cl‘tmate_
D. nch,c;dture

| 'D.,

ﬁshmg is MAINLYused%a

&
fam T




P o

' A March May
ite SEROE B Octabcr Deca:nber
C.Sodaash . . . o} C. Jeswmary-February -
: 4D, :Iime Sept

Zﬁwxmz;mofme«fongw communities
R ;usedihe;rﬂu;te marked’fxn their :mgratwn"
‘"?A’ :

Use ihe map belo
27 29 o

Whaammlg ﬂuefoﬂovmng txaditmnal 1eaders

":’iﬂdﬁEAgmama peapiet@res;st agamstthe
Brmsw e

e

3 AH zha follo: mg were mefrhad_', iused to-
"~'-'maehﬁzeypuﬁ;mAﬁmantmdmonedmon

27 Thewatsrbaéymkgd?wmmﬁs: \
A. Lake Victoria .
- B. Lake Turkana i |
C. LakeStephanie - ~ =,
'D. LakeAlbert -




34

Which one of the fﬁllowmg mountains can

be classified as a horst?
A. Muhavura

B. Usambara

C. Cameroon

D. Drakensberg

~ Use the diagram below/ to answer :q:ﬁﬂesjtiions. !
35-37.

36.

LIKELY to en
A. Kericho

~ B. Kisurnu

37.

B. It s accompanied by thunderstonm‘ 3

el D Farmsdueto heatmgefmmst aar

- 38.

C. Muranga

charactensnc of the_ Xperience ‘abové
A. Usually falls in the afternoons.

C. Received in highland areas.

In their migration: the Luo entered Kenya in |

three different groups. Which of- the
followingis NOT one of them" ’_ "
A. Luo-Kenya

B. Jokalok

C. Joka Omollo

,,D',.JokaQwinyé i eoni

39,

40.

| 43

. facmg oupcountryat the mOment‘?

.

Which one of the foilowmg is NOT-aPlain
Nilote?

A. Karamonjong
B. lJie

C. Samburu

.
e

~D. Pokot

“The MAIN reason for the scramble and

partition of Eastern Africa was o

A. acquire raw materials.

B. acquire markets for finished goods.
.C. settle surplus population.

D. asign of prestige.

« “Who among the following early visitors to
LHste a;%{m was NOT a‘vrader‘7

Which oneofthe followmg is major problem

A. liliteracy.

. B Poor healthcare..

C. Terrorism.

_ :;_;' - D Underdeveiopment

Before the commg of: the Europeans thc
o ‘Abawanga, ofWestemKenya were ruled by
o Al heradttary chiefs. - '

editary kings.

.,"C council of elders. - -
D.govemors -




'
-

47.

50.

45. The officer incharge of elections ina .
constituency is known as
A. presiding officer, |
B. polling clerk.
C. chairman
D. returning officer.

Which one of the following houses of the
Kenyan parhament appmves the natimaal :
budget? -

A. Senate

B. National Assembly
C. County Assembly

D. Cabinet

46.

g The PfﬁSidentof :
for a period fivahye
electorate ., P
parliament.
cabinet
executive |

Cowp

48.
known as
A. horsts
B. valleys

D. faults

49

Which one of the foliowmg placesin Kenya

is known for the production of soda ash?
A. Bamburi

B. Kapedo

C. Lake Magadi

D. Kariandusi

Which one of the following needs. of afamily 1
 can be classified as a basic needs?

A. Education

B. Car

C. Furniture

D. Food

5 1. Whichane of the following towns in Eastern
Africa was started MAINLY to act as a
capital city?-

A Jinja
" B. Dodoma
C.Mombasa . ‘
D. Addis Abéba 2 e

.

52 Whlch one of the following l&ngudge groups
is NOT found in Eastern Africa? °
A. Khoisan
B. Cushites
C. Bantus
D. Nilotes

3 Which one of the following regional -

- brgamzatnonsiaasns hcadquarters in
“ D}Lbouh city?: .

“A. EAC

B. A

55. Which one of the following countries of
Africa is landlocked?
A. Congo
B. Zimbabwe
C. Madagascar
D. Morocco

- 56. Which one of the followmg vegetanon zones
is the largest in A frica?
A. Equatorial vegetation
B. Montane vegetation
- C. Savanna vegetation
-D. Bushes and thickets,
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- B. Sanye
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PUNTENESE———

'fife National pehe&fm

" D. Bur

headedby - = oo
A. inspector generai of pa
B. police commissioner.. .
C. chiefof general staff. -
D. dlrectorof pﬂbiiugmseem

' ,Which one ofthe fdﬁowingca ! i jf'l

Tanzama'?
A. Somali

C. Mbugu

I”_., .,%'

AL ﬁegxs&nagve@e:s

‘ ’Wh;ehanesofﬁﬁ f&!ewmg w&am’s
represents water bodiesona map‘7 S

A Puxpls

C. m

"D.Green




61.

PART II: RELIGIOUS EDUCATION

SECTION A ’ : : e
CHRISTIAN RELIGIOUS EDUCATION 68. Which one of the followmg is NOT an abﬂity —
Adam and Eve were chased from the garden A. preaching ’
of Eden because of B. dancing
A. disobeying God’s command. C. sleeping

62.

63.

64.

65.

66.

- 67.

B. talking to the snake. D. swimming

C. eating from the tree of life. 69

D. failing to take care of the anirals. Whoever does not work should not eat” 2

Thessalonians 3:6-10. These words werc sald

Which one of the following was NOT a talent . by

. A. Paul
of David? ‘B. James
A. A good shepherd. c', Peter
B. A good teacher. . D. Jesus

C. Playing the harp.

D. Composing songs e T R

. “Who one of the. followmg was NOT among
the deacons of the ea:ly church?
A. Stephen

God called WMt
he was at = o
A. Egypt

B. Bethlehem
C. Midian

D. Ephesus

According to Exodus 3‘5 31-33 ‘Bezalel
Oholiab were talented in
A. tent making '
B. artistic work &
C. playing the harp.
D. fishing.

. q@and serve him when.

V"wg“’ﬁfh‘e ’foﬂowmg sons of Jacob was
irifdirlysby-his brothers?

Who among the fol owmg"was NOT a son of A. Judah
Noah during the floods? B. Reuben
A. Shem C. Joseph
B. Ham D. Benjamin
C. Japheth ) o L
D. Lamech ©73. Who among the following prophets referred
to Jesus as the Prince of Peace?
Who among the following people was called A. Micah
. B. Jeremiah
to be a prophet when still very young? C. Isaiah
A. Jeremiah e .
B. Ezekiel D. Samuel |
C. lsa}iah 74. Who among the following was guided by the
D. Micah _ Holyspirit to lead the Ethiopian Eunach into
o . R - salvation? P T - -
Which of thi&following kinf$*0F Tétael chose | A. Judas ' o e
to ask God for wisdom? _ B. Philip
A. David ~ G, Paul
B. Saul o D. Peter
C. Ahab 75. Jesus taught that those who work for peace
D. Solomon will

A. be comforted.

B. inherit the kingdom of God.

C. receive what God has promised.
D. be called children of God.
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.. 76,

77.

78.

During the annunciation of the birth of Jesus 84. During the dedication of Jesus, who
tohfe Angel of God appeared to Mary in the town described him as the light of the world?
A. Nazareth A. Anma
B. Jerusalem ‘ B. John the Baptlst
C. Bethlehem C. Simeon
D. Bethany - D. Joseph
85. Who among the following prophets prophesied
The younggirl who worked for Naaman’s wife © that Jesus would be a refugee in Egypt?
as a maid was a ' S A Isaiah X
A Jew ' , B. Daniel '
B. Philistine R C. Micah
C. Gentile ' D. Hosea -
D: Amagie , 89" in tradition™¥Mhn sociciies, THEMAIN.
“This is my own son with whom am pleased” reason why marriage was considered important
Matthew 3:17. In which event of Jesus were was

79.

80.

81.

82.

A. for companionship.

these words s’ai;l? L. :
' . B for procreatlon

A. Baptism
B. Transfiguration
C. Temptation
D. Death

; traditional African
Which one of tl'% follo id N@ ) . i ré%iali’ ht good morals by

C. The walls
D. Darkness

C. obedience to ancestors.
D. respect for elders.

D. Frankmcense

Which one of the folowing parables teaches 89. Who among the following judges of Israel was
Christians the BEST use of talents? The used by God to rescue the Israelites from the
parable of . Midianites?

~ A. good samaritan : A. Samuel
B. three servants . " B. Deborah

- C."lost son C. Gideon
D. rich fool _ D. Samson
In which town was Paul and silas arrested and 90. Which one of the following is NOT a way of

83.

C. Herod D. Ahab

jailed for presching the good news" acquiring new life in traditional African

o
A. Philippi (/;omlr:::lr:ttxl::
B. Corinth B. Death

C. Alexandria C. Marriage
D. Ephesus D. Baptism
-Jesus was born in Bethlehem. durmg the reign

of king _

A. David B. Saul

10




SECTION B 68. “Believers are like one building, If one brick is

ISLAMIC RELIGIOUS EDUCATION - weak, the whole building falls down.” This
‘ hadith teaches the importance of _ in
61. The most accurate translation of the verse, Islam.
“Lailatul Qadr Khairun min alf' shahr” is that A. toleran:cg
The Night of power is - B. punctuality .
A. better than 1000 months. C. unity
B. equal to 1000 months. D. hospitality -
g' a;%(l)c();lg as tLOOO months. | 609. The prophet said, “Telling lies, braking promise
' MmOmnts. ' and untrustworthy,” are signs ‘of
62. In the Surah Al-Qadar, the title “Ruh” refers g a hyprocite.
to Angel - o . @ cone man,
A. Izrail (A.S) ) - g- !acl;n?tfﬂlmaan
B. Jibril (A.S) - @ gambler
€. Raqiband Atid (A.S) 70. Which of the following Sunna Swaums is

63.

64.

6S.

66.

67.

D. Munk d Nakir (A.S
unkar and Nakir ( fasted immediately after Swaum Ramadhan?

. A. Fast of Ashura
wooBasSittat Shawwaal
C. Fast of Arafa
D. Ayyamul Banth

Which one of the 4 1 owing characteristics 0
successful peopi-] yivedin

Surah Al-Asr?
A. They behev%m
B. They do rlgﬁte

The compulsor;y paart of the mans body that
___to

“Pray to your
Is a peace of agdvi
prophet in Sur

A. al-Ikhlas ]

B. al-Kauthar ¢ .ij“uiéﬁ%ﬁflﬁlt%“ts:’ aid thhm Salaat. At which
C. al-Nasr ‘

D. al-Alaq

Which one ameongithefsiio
condemned in Surah al-Humaza?
A. Begging

B. Injustice in measures. 73. Which one of the following dead bodies is Najis

C. Playing gambling. according to Islamic Shariah?
D. Backbiting others. A. Of a human being

C After takblrat Ihraam
D. In sitting betweén two Sijdas.

[n the dua we recite after eating we thank Allah B. Ofa fish.
. . C. Of a cow.
(S.W) for making us eat, drink and . D. Of a locust
A. be members of Islamic faith. o '
B. be among the clean. 74. In which city do Muslims go for pilgrimage?
C. even have extra foods. - A. Jerusalem B. Makka
. D. be good servants of Allah. . C. Madina D. Beit Laham
The two Surahs_recommened for reciting.. e~ "5 i L e )
before sleep to seek the protection of Allah « The fol.lowmg are conditions that necessitate
are called _ ‘ ghus.ul in order for one to regain purity. Which
A. Ayatul Kursi one is NOT?
B. Hisb : A. Heidh B. Janaba
C. Muagada o C. Nifas D. Eddat

D. Muawidhatein

11 STD 7 SSTR 002 2016




76. Which group of wealth is WRONGLY 1 83.
matched with its condition before giwing its
given out as Zakkat?

A. Moneys in business —lts vaise:to:a dollar.
B. Gold and silver minerals —Qamcaieﬂder
 year

C. Fruits and vegetables-—) harvest time

D. Camels, cows, sheep and goat —>Nisab

84.

changed from..
‘A. Jerusalem
‘B. Nineve
~x#C_ Samaria )
~D. Dafur =, ~_

; 85.

78.

Though he was thrown in a turnel of fire to
be lynched, Allah (s.w) ordered the fire to be: |
cool and safe % him. Who was this?

A. Nabii Ibréh Qs
B. Nabii Lut (A.S) ... =~
C. Nabii.Issa (A. )

D. Nabii Muhammad (p ‘b.u.h)

79. Having no worﬂes@boxﬁ the sec

property by dozng *whaggyou can.and’
the rest in Allah ls«ihe 2 in Im%n
A.lIstimraar = =
B. Taqwa
C. Tawakkul

D. Tanaffas ?;%

80. All doors of gﬁ%d firtines are opened by
allah and therefore-atENRIST: §
as

A. al-Razzaq

B. Al-Wahhab

C. Al-Baar

D. Al-Fattah

81.

Which one of the following intoxicants was
described as the “Mother of all eveils”?

A. Bhang

B. Alcohol

C. Miraa

D. Cocaine

89.

82.
consider all the following points EXCEPT one.
Which one?

A. Colour

B. Size

C. Material

D. Transparency. ,

90.

12

. .+ =} . witnessed during Nikaah fur;giuénwg‘
77 The Qiblq we are facing today as we pray ,Wmi#x&mm;»;

A muslim who wants to buy a dress-will | - .

The four months Muharram, Rajab, Dhul

Qaada and Dhul hijja were identified to be
A. Lailatul Qadr

B. Ayyamul Baith

C. Ash-hurul Hurum

D. Ayyamul Tashriq

Which of the following thmgs is NEVER

A. Walii B Whlima
C. Twalaq D. Khutba

Which among the three options of forbidding

__cVNSAeNTIcd to as “THOWEMess of Faith™?

A. Using a hand to control.

B. Commending by, your tongue.
C. Joining them in the evil.

D. Hating evil by heart.

Each % me%’”

saying :ﬁ
A. Wabillahi T“a‘wﬁq

D

The Aus and Khazraj communities came in
Makka to learn Islam from the prophet. They
met him at

A. Minna

B. Aqaba 1

C. Miqat

D. Arafa

The people of Nabii Nuh were perished by
A. a curse '
B. burning fire
C. floods
D. thunderstorm
e . .
For Allah to accept Habil and Qabll S w1shes,
He asked them to give
A. zakkat
B. tax
C. swadaqa
D. sacrifices




You have 40 minutes to write your compdsiﬁon. : .

Below is the beginning of a story. Write and complete it in your own words making it as interesting -

Iy

as you can.

Saturday afternoon, my mother asked me to accompany her to the market. As soon as we

had taken our lunch,




N




Umepewa dakika 40 kuandika insha yako. .
Andika insha isiyopungua ukurasa mmoja na nusu. Anza kwa maneno yafiatayo huku ukiifanya iwe

ya kusisimua zaidi.

Kwa muda mrefu, shule yetu............ oviventesbsasansseseiensssrassattetnteserssasssensssasanisessnresinns pevrrerns
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